ASSIGNMENT CLASS XII

(Minimum Learning Level) Based on Book -2

INTEGRATION
1. Integrate :
1 sin x e 3x+4
a b) ———— c) tan®x d)————— g) ———=
@ 1+cot x ®) sin(x—a) © ( )ezx+6ex+5 © /5 —2x— X2
Hxanix @ @1 2,
(x=2)"(x+2) (x+2)(x2+4) 1+c0s2x
(J) 1 ¥ re*
cos (x —a) cos (x — B) (K) (x+1)(x+2) () (1+x)°
n/2 .2
2. Evaluate: (a) [ " X 4 (b) [__Xtanx )t (d) F_xsinx
! sin x+cos x X J.secx+tanxdx ( _([log(l+tanx)dx J.1+cos X
3. Evaluate j( “x+2)dx 3 limit of sum.
AREA UNBDER CURVE

. Find the area bounded by the curve x2= 4y and the lirie x = 4y — 2.

. Find the area of the circle 4x* + 4y*=19 which is‘interior to the parabola x* = 4y.

. Find the area bounded by curves (¢~1)>+y?= 1 and x* + y*= 1.

. Find area of region bounded by triangle‘whose vertices are (- 1, 0), (1, 3) and (3, 2).
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. Find the area of the region{(x,y):xZer2 <1< X+y }

6. Find the area of the smaller region bounded by the ellipse %Q’é:l and the Iine§+%z1.

DIFFERENTIAL EQUATIONS

Solve:
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VECTOR ALGEBRA

If the position vectors of the vertices of a triangle ABC are l+2]+3k : 2l+3]+k, 3l+]+2k ,
prove that A ABC is an equilateral triangle.
The dot products of a vector with the vectors l+]—3k, l+3]—2k and 2l+]+4k are 0, 5, 8

respectively. Find the vector.
Find the area of the parallelogram whose diagonals are determined by the vectors

a= 2I+3j —6k and b= 3I—4j k.
If b, are unit vectors such that 45 +7=0. find the value of foh+bFs
Find the area of the triangle with vertices A(1, 1, 2), B(2, 3, 5) and C(1, 5, 5)

Let a, b and Z be three vectors such that il=3, b =4,|¢ |_ 5 and
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cach one of them being perpendicular to the sum of the other two, find |a+b +¢|.

7.

The scalar product of the vector l+]+l2 with a unit vector along the sum of vectors
2l+4]—5l2and ll+2]+3l2 is equal to one. Find the value of A:

THREE DIMENSIONAL GEOMETRY

1. Find the image of the point (5,9,3)in the line le y=2_12-3

2. Find the shortest distance between the following pair of lines:
(a) F:(ﬂ—l)l+(l+l)]—(i+1)k and rs (1~ ,u)|+2(2u l)j-l—(,u+2)k Ans: Sf
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3. Find wvector equation ,of the’ plane “passing through the intersection of the planes
F.(Zl ~7] +4k) =3.and F,(s? 5] +4k)+11:0 , and passing through point (-2, 1, 3).

4. Find the distance:between the point P (6, 5, 9) and plane determined by points A (3,- 1, 2),
B (5,2,4)andC(- 1, - 1,6)

5. Find the equation’ of the plane passing through the line of intersection of the planes

x-1 y-3 z-5
4 5

6. Find the equation of the plane passing through the point (1,1,1) and perpendicular to each of
the:planes x+2y+3z=7 and 2x—-3y+4z=0.

7. Prove ithat the image of the point (3,—-2,1) in the plane 3x—y+4z=2 lies on the
planeX+y+z+4=0.

8." Find the distance between the point P (6, 5, 9) and the plane determined by the points
A@B,-1,2), B(5,2,4)and C(-1,-1,6).

9.

Find the distance of the point (— 1, — 5, — 10) from the point of intersection of the

line 1’:Ef—j1-2}€+?.(3::+4j-rdk)andtheplaner (- }1—35):

2X+ Yy« z=3and5x-3y+4z+9 =0, and parallel to the line



LINEAR PROGRAMMING

1. A diet for a sick person must contain at least 4000 units of vitamins, 50 units of minerals
and 1400 units of calories. Two foos A and B are available at the cost of Rs 5 and Rs 4 per
unit respectively. One unit of the food A contains 200 units of vitamins, 1 unit of minerals
and 40 units of calories, while one unit of food B contains 100 units of vitamins, 2 ugéts of
minerals and 40 units of calories. Find what combination of the foods A and B sho

used to have least cost.

money to maximize the pro

. A dealer deals in two |te@

2%
ours 20 minutes available for cutting and 4 hours for assembling. The profit is Rs 5 each

x
) ?or type A and Rs 6 each for type B souvenirs. How many souvenirs of each type should the

company manufacture in order to maximize the profit?



PROBABILITY

1. Sumit and Nishu appear for an interview for two vacancies in a company. The probabilities of

their selection are respectively5l and % What is the probability that:

(i) both of them are selected  (ii) only one of them is selected (iii) none of them is selected?

4. In a bolt factory machines, A, B and C manufgac%ne respec%i,véivly 25%, 35% and 40% of the
total bolts. Of their output 5, 4 and 2 percenL aré@@;respectively defective bolts. A bolt is drawn at

throw a die alternatively till one of them gets a ‘6’ and wins the game. Find their

Wé/probabilities of winning, if A starts first.

. Sup!p se that 90% of people are right-handed. What is the probability that at most 6 of a random

) és%mple of 10 people are right-handed?

10. Bag | contains 3 red and 4 black balls and Bag Il contains 4 red and 5 black balls. One ball is
transferred from Bag | to Bag Il and then a ball is drawn from Bag Il. The ball so drawn is

found to be red in colour. Find the probability that the transferred ball is black.



